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# include < stdio.h>
int main ()
{
double dSalary, dTax = 0, dNetIncome = 0;
double dValue;
printf ("I AGAEH IR BE () "),
scanf(" % 1f", &dSalary);
dValue = dSalary — 3500; //HERAE p SR 2% BBt
if (dValue>0.0)
{
if (dvalue <= 1500)
dTax = dValue * 0.03 - 0.0;
else if (dValue <= 4500)
dTax = dValue % 0.10 — 105.0;
else if (dValue < =9000)
dTax = dValue ¥ 0.20 — 555.0;
else if (dValue <= 35000)
dTax = dValue * 0.25 - 1005.0;
else if (dValue <=55000)
dTax = dValue % 0.30 — 2755.0;
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else
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}
dNetIncome = dSalary — dTax;
printf ("HEA H N2 AFERL % . 21F o6, BiE IR A E % .21f JG.\n", dTax, dNetIncome);
return O;
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# include < stdio. h>

main()

{

long int i,

int bonusl, bonus2, bonus4, bonus6, bonus10, bonus;
scanf(" % 1d", &1);

bonusl = 100000 % 0.1;bonus2 = bonusl + 100000 % 0.75;
bonus4 = bonus2 + 200000 % 0.5;

bonus6 = bonus4 + 200000 % 0. 3;

bonus10 = bonus6 + 400000 % 0.15;

if(i<=100000)

bonus=1%0.1;
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else if(1<=200000)
bonus = bonusl + (i —100000) % 0.075;
else if(1i<=400000)
bonus = bonus2 + (i - 200000) % 0.05;
else if(1<=600000)
bonus = bonus4 + (1 —400000) % 0.03;
else if(1<=1000000)
bonus = bonus6 + (1 - 600000) % 0.015;
else
bonus = bonus10 + (i —1000000) % 0.01;
printf("bonus = % d", bonus);

}
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# include < stdio. h>
int main(void)
{

float sales, prize;

printf ("I A H 8 EH\n:");
scanf(" % f", &sales);
if (sales<=10000)
{
prize = sales % 0.2;
printf ("THAH ! \n");
printf("# 4 % f\n", prize);
1
else if ((sales>10000) && (sales<= 20000))
{



prize = 2000+ (sales —10000) % 0.15;
printf ("TAAE\n");
printf("#¥ 4 % f\n", prize);
}
else if ((sales>20000) && (sales<=50000))
{
prize =3500+ (sales — 20000) % 0.08;
printf ("THAE\n");
printf("# 42 % f\n", prize);
1
else if ((sales > 50000) && (sales<=100000))
{
prize =5500+ (sales — 20000) % 0.08;
printf ("THAH ! \n");
printf("#¥ 4L % f\n", prize);
}
else if (sales>100000)
{
prize =7900 + (sales — 20000) % 0.05;
printf ("JEHF L \n");
printf("#¥ 4 % £\n", prize);
1
else
{
printf("FE S J1\n")
1
return 0,

}
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